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Question 1:  

The questions below refer to the analysis and results in Duflo (2001), “Schooling and Labor Market 

Consequences of School Construction in Indonesia: Evidence from an Unusual Policy Experiment”, 

American Economic Review, 91(4), 795‐813. Between 1973 and 1978, the Indonesian government 

engaged in one of the largest school construction programs on record.  Duflo (2001) evaluate this 

effect of building schools on education and earnings in Indonesia. 

 

(a) Using Table 3, outline the basic idea behind the identification strategy followed in Duflo 

(2001). 

 

 



(b) Using Table 4, discuss  the problem omitted  time‐ varying and  region‐specific effects and 

explain  how  Duflo  (2001)  can  conclude  that  the  estimates  are  not  upwardly  biased  by 

mean reversion or omitted programs. 

 

 



(c) Based on Figure 1 explain why the identification strategy in Duflo(2001) is considered 

reasonable. 

 

 



Question 2: 

Consider a rural credit market where borrowers and  lenders are risk neutral. Each  individual  in a 

village has access to the same amount of land, and can farm this land at a fixed cost (equal to 1). 

The  farm  yields 0  if  there  is harvest  failure, and R>1 otherwise. The probability of  a  successful 

farming  season  is  ( )e , where e  represents effort of  the  farmer.  ( )e   is  strictly  increasing and 

concave. The utility cost to the farmer of working is given by D(e), which is increasing and strictly 

convex.  Assume  no  land  market  (no  wealth),  and  the  farmer  therefore  has  to  borrow  the 

necessary working capital. If a lender offers an interest factor of  i R , the returns to the farmer 

and lender are as follows: 

  Borrower  Lender 

Success  R‐i‐D(e)  i 

Failure  D(e)  0 

Assume  that  lenders  have  access  to  a  risk‐free  capital market with  a  return  (  )  of  1R   . 

Assume also that, if the borrower does not involve herself in farming, she can receive a return (W) 

of  0R W   in alternative employment. Based on the above we have that; 

The expected utility of a borrower:  ( , ) ( )( ) ( )U i e e R i D e    

The expected utility of a lender:  ( , ) ( )i e e i   

(a) In  compiling  the  above  table  two  assumptions  are  made.  Describe  and  discuss  these 

assumptions. 

(b) Assume  that  a  lender  cannot  observe  the  input  of  effort  by  the  borrower.  Describe  in 

context of the above model setting the consequences of this moral hazard problem. 

(c) Explain  and  illustrate  graphically  how  the  equilibrium  in  (b)  compares  with  the  (i) 

Competitive  equilibrium  with  complete  markets,  (ii)  Equilibrium  with  a  fully  informed 

monopolist,  and  (iii)  Equilibrium where  there  is  competition between  an  informed  local 

moneylender and uninformed outside lenders. 

(d) Outline an example of how the consequences of moral hazard can be neutralized. 

 



Question 3: 

Technological changes in developing countries are often characterized as a process where a given 

technology  is  invented  in  developed  countries  and  then  imported  and  adapted  for  local  use. 

However, technological change  is often more complex than transfers of blueprints and machines 

from rich countries. 

a) Explain why the value of international technology spillovers may be limited and define the 

concept of social learning. 

b) Describe the “Target Input” model of social learning and explain the testable implication of 

this model. 

c) According  to  the model, how may many expected neighbor  technology adoptions affect 

own adoption? 

d) How is the relative usefulness of information gathered from own and neighbor technology 

experiments,  respectively?  Is  this  assumption  plausible?  How  does  unobserved  farmer 

characteristics  affect  estimation  of  different  types  of  learning?  (Hint:  Discussion  of 

consistency versus efficiency). 

 


